1) Let X1, Xo~ fx,x.(t1,12). The joint probability mass function of X; and X3 is given in Table 1.2.1.

O o 2| 3] 4| 5| fu)
s
1 10,021 0.05|0.05 | 0.07 | 0.06 k
2 10.05 | 0.02 | 0.05 | 0.05 | 0.08 k
3 1002005005 | 008|005 A
1 J9.12 008003 |001]|001]| | &
fx.(t) a|0.20|0.18 b & 1

>

Table 1.2.1: Joint PMF of X; and X;.

Choose the correct options from the following: f x| ( \3 = 0002 +0.05 +o.o- 4ol

[E/fxl(l) = 0.21 => O.2|

& a+b+c=0.62
A Y 010 + OB +— b =1
vk =0.25 = ogq

0 a+b+c=0.41
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¥ Lig =
28 = O

2) If X,Y ~ fxy(t;,ts), select the correct statements from the following:

O fx(t1) =X 1, fxv(t1,t2)
O fx(t1) =S, fxv (b tg) £ 3y sum over &y
Q/_fy(tz) =theTx fXY(tl,t2) Kok, , Summ  over X,

O fy(t2) =2_per, fxv(ti,ta)

3) The joint probability mass function of two discrete random variables X and Y is given by
fXY(may) = 551' may€{1,2}

Calculate fx (1) + fx(2).
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